
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

6٫085 × 10000 = ________ 5٫217 × 1000 = ________

5٫366 × 1000 = ________ 4٫59 × 100000 = ________

9٫721 × 100000 = ________ 8٫518 × 1000000 = ________

1٫407 × 1000 = ________ 1٫947 × 100000 = ________

2٫795 × 100 = ________ 10٫733 × 100000 = ________

3٫734 × 10000 = ________ 3٫495 × 1000 = ________

9٫945 × 100000 = ________ 1٫007 × 100 = ________

10٫537 × 100 = ________ 4٫304 × 1000 = ________

9٫504 × 10000 = ________ 7٫829 × 100000 = ________

6٫115 × 1000000 = ________ 10 × 100 = ________
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Multipliser desimaler med ti

6٫085 × 10000 = 60850 5٫217 × 1000 = 5217

5٫366 × 1000 = 5366 4٫59 × 100000 = 459000

9٫721 × 100000 = 972100 8٫518 × 1000000 = 8518000

1٫407 × 1000 = 1407 1٫947 × 100000 = 194700

2٫795 × 100 = 279.5 10٫733 × 100000 = 1073300

3٫734 × 10000 = 37340 3٫495 × 1000 = 3495

9٫945 × 100000 = 994500 1٫007 × 100 = 100.7

10٫537 × 100 = 1053.7 4٫304 × 1000 = 4304

9٫504 × 10000 = 95040 7٫829 × 100000 = 782900

6٫115 × 1000000 = 6115000 10 × 100 = 1000
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